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We can use Figure 1, to calculate the image distance g from a knowledge of the
object distance p and radius of curvature R. By convention, these distances are
measured from point V. Figure 36.11 shows two rays leaving the tip of the object.
One of these rays passes through the center of curvature C of the mirror, hitting
the mirror perpendicular to the mirror surface and reflecting back on itself. The
second ray strikes the mirror at its center (point V) and reflects as shown,
obeying the law of reflection. The image of the tip of the arrow is located at the
point where these two rays intersect.
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The magnification can be get from the relation
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We also note from the two triangles in Figure 36.11 that have « as one angle that
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from which we find that
W _R-yq
h p—R
I we compare Equations 36.2 and 36.3. we see that
R—q _ 4
p— R - p
Simple algebra reduces this to
1 1 2
==
P q R

This cxprcssion is called the mirror equation.

g=-5.71 cm the image is virtual

M=0.286 the image is upright

h'=1.144 cm
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o= —4q1 + 1 (¢ 1s negative)
9= —¢q; + 1 (q1 1s positive)
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f/f.=(n-1)/(n"-1)
=(1.52-1)/(1.14-1)=3.71
f,=40 x 3.71=148.4 cm

gt | el [ YO

O GSHE Ay Clanll (e Ao sane ddauls s (A djatiy Ly JSA 498 ()
EENIOICT

raalall -

syall lae Lo el ABLiG e by Ol by adle (Bl Lgia o)y Loy lad) (e (el Cilas 4
Al sy Gy eguall Caladig Laad ST ggh Lgia ke

: Gl -
N Al B sl (gl 8ol 53 Gslal) el Gl ay
ST | P I e

o) e AL ¢ gl e Cn Gy LU Q6 An il oy 6 dagy



POl dde —
Joasall cald o) el plual (als )

s Al —

215 Aol Ay LA (o (3555 il AL dgal 5 JaIa) Goa il G o0
el sl e <8 Al Hgall (e zslill ;)mlbu)ﬁtm@ﬁumdmuw PR
Al elal) ) il o3 Ranis asks s gl () syl caand) Gk e

ool By pm i 16 (S Lo 01 LgaBzn (o o umlly Gulea) (5% Al e a8 e o
P2l g Gl 4, Ledle
- Sl oS by

$ daniiall

e A3 o oaint a4l Cagyrall (aleY) esall ae Lad dliall plag 403l Gk dada o
Agal) 4 geall Le gy

(e lghaiad Liga) (ppell aagy WS 445300 (e Ll s and) pha il dman 302 (ally 253

cleles alaily 45 Y)

: lgadle Ldsy B qige

okl Joha jla) e aal

sl a1 ) o L ane say (RSl Gld jpall (S5 pag) I Jsh— ]
Agie J8 5 w25 aay o adi il Al (Y elliy ¢ ASual (alk 5ypeall a8 Allal sda 343y
S sl ey Sy e lagind Alla 3 dussl)



Aiguall A panall (g3l ) (58 (Tuane) Y lane @l gyl dadialy il Joh llay
a33i (s il e 5yseal) B Gy JB1 55Ul AU Aually () date (e disSal

) e Ll gyl aladind Jay daaY Gluae

LSl el aall (455 5a) HBI juad ~2
el ol Mia (uyie 5l e o Ly 2 Al Bl slual) Ay o a8 aae 54
25 G B axy (o )5 il el dally (68 Al Adaiill dpuilly S) ) p 25 ey o o
e sl i 05K 3 dedl (sadlly s ollyg T pkall clilad) e o8 A a5 el )
Al Ll Ll (5 S5y aalls Dy s (35S ANl s3a 5 A wtall (5501 2 xll (Y

L any 488180 dre UGS (pall e xe 48)dal) duaalld 48 )00 Giluae DI 3L aypall ardiiy

LSl o jsall a8 Cuay Johal (5)54)

Tl G5y sl

sy lo 2ol las spnall alual) Sl jsia ()5l lasy A6V duae (e 3)le
- Ty

talee Gl



) e J8 ol CsSuySaall (e amy e 0S5 alhal) aiad) ey

Al (g5l
A (530 g5 pms 25 Sms o iy (1) U5 80 Aliie Ayl 5y 50m ) 3] (1S5~
ol Al

ol Jlad gl w25 e 25Kl 3ypall jlad sl sl

ons 25 533eall Jskim 8yeall i dgly (I
pas 25 [pmeadl Jska =5ypall (S 3 pmadl L) sl

h'
m:_
h
(Sluaall alall o 3all) o Ly
1 1 1
E ~25cm f
) a5 1
_ 25f
IO_—25+f
oypall L3l )y Hlie) aay
Hzﬁ : Hozi
p 25
¢ hlip 25 25

0, hi25 p 25f/25+f)
el Cpal) Alla 8 il 58

m:1+$







